 SEQ CHAPTER \h \r 1Letter Products - Some Sample Questions

These questions can be used for class discussion, homework assignments, or more formal assessments.

1.
Look back over the last Letter Products game you played.  Were there any words you played that gave you no new information?


[Answers will vary.]

2.
If the value of EEL is 15, what can you tell about the values of E and of L?


[Since 15 has only 3 and 5 as factors, neither can be a factor of E, which is repeated. Thus, E must be 1 and L must be 15.]





3.
If the value of EEL has the value of 12, what can you tell about the values of E and of L?


[L is a multiple of 3.  The repeated factor of 2 could be a factor of E or of L. So the 


values must either be E is 2 and L is 3, or E is 1 and L is 12.]

4.
If the restriction that the values for each letter is a natural number is removed, and EEL is 15, what can you tell about the values of E and of L?  


[Nothing, there are an infinite number of possibilities; for example, E could be ½ and L could be 60.]

5.
WAY has a value of 30, ARMY has a value of 35, and AWAY has a value of 150, then what is the value of WARM?


[A has the value AWAY/WAY = 5.  WY has the value of 6.  RMY has the value of 7.  Since Y is in common between WY and RMY, but 6 and 7 have a GCF of 1, Y must have a value of 1, which means W is 6.  ARMY is 35, and Y equals 1, so ARM is 35.  Therefore, WARM is 6 times 35 or 210.  Interestingly, we cannot tell if R is 7 and M is 1 or vice versa.]

6.
Is it possible to develop a certain list of words that will always allow you to solve the game?  If so, how short can you make the list?  If so, might there be times where you can solve the game with fewer (perhaps different) words?


[This might make an excellent extra credit or extended question.]

7.
The rules have been changed so zeroes are allowed in the Letter Products game.  Would it be easier to solve the game if someone had 25 ones and one zero, or 25 zeroes and 1 one?


[Since no three- or more-letter English words are made up entirely of one letter, it would be impossible to solve the game with 25 zeroes in it; each word would give a value of 0.]

